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And why did they call it a complete etc., for you may have said

OVERVIEW

The X131 explained the reason the Xn»721 states 7713 277 717 is to emphasize
that the 7127 totally disagree with >"9 to the extent that it is not a >"77 even
X2, Our MooIn is troubled by the addition of the word 7). It seems to
be counterintuitive.

mooIN comments:

— ) PNH MY NN 1T XIANDN RIDON NN NI PYIT PNYY 139329 99N
The >''9 says that the expression “this is a complete °"77 indicates to the
contrary, not the way the X723 is interpreting it, that only the *"77 of the
XN°12 is a valid °"i77, but the >"77 of 7717 °27 is not a >"';717 at all even XA,
meaning that if someone throws something from the 7"77 into the >"737 of »"1

he will be Mvd; but rather the expression “this is a complete 5''719”, indicates
that only the >"717 of the Xn>>72 is a complete "7 even to the extent that one is permitted

to carry in it -
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However this one, the >"777 of *"7 which we are excluding by the expression
“T7m3 777 X 17, is not a complete >''9, to the extent that one may carry

there as well, however it is a partial >''519, to the extent that if someone throws an
object from a "7 into the °"77 of °"7 he will be Xn»7 X7 2>°1. This is the opposite of
what the X723 intended that the °"777 of °"7 1s no *"711 at all!

mMooIN mentions *"YID:
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And >"we - albeit with difficulty — explains it according to the
interpretation of the word 713 (complete).’

! This *13 is not understood for in our texts there are no words between 773 and 7. See 19X NIDOIN.

*In his glosses the n"2 changes the reading of the text; deleting "X%37 *%", and inserting instead w17°5%"
"717 3. The translation here follows the gloss of the r1'"2.

3 See 7 P"np "7 *"wn, that the word 773 does not qualify or modify to the term *"77, that it should
mean ‘“this is a complete "7 but rather the word 7713 is to be understood as being an explanation or
reason for the "7 7°7. The phrase 773 °"77 X°7 17 is to be understood; “this is a *"717 - since the N1¥°nn are -
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SUMMARY
The word 77713 as an exclusion implies that the >"777 of >"7 1s not a 77173 °"77
but rather a minimal >"737; the opposite of what the X773 intended.

THINKING IT OVER
How does the word 7713 (even according to >"w9°9) indicate that the *"77 of
7717 " (the 121 2°n2 '2) is not a "1 even XIMIN2?

completed (or 1731, from all sides)”. However where the nix°n» are not completed, as in the case of a°n2'a
191, it is not a "7 at all, even XY,
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